#3425

. - A N _j#_.
sl 2 RAKE EHRERARS L TARS & [ g

20% 1. Evaluate the det(A) and the rank of A, where
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20% 2. Solve the ordinary differential equation of
dy
(y+1)==+z(y* + 2y) =
Wt 1) +2(y +2) ==z

20% 3. Determine the inverse Laplace transform of

3_ 42
V(s) = .*5‘. 4s* + 4
§%(s? — 35+ 2)
20% 4. Find the maximum value of the cost function f = —5z, + x5

subject to the constraints

1120, 220, —z)+3 > —1, £, + 2, <6, 75 <5.

20% 5. A cage contains 100 mices, three of which are male. What is the prob-
ability that two male mices will be included if 10 mice are randomly
selected?

F HSie 2->




